2 Wihle n>1:
3. Each Verles selects e Ughtes/ } )

A iR R S5 l'>'
S. Conclract all edges M L. 3 o<m)
:’6 FzHerad(oe sJZ dedgg ’7’9(.1) Sfep Q)

C&Hﬂéx\g 0‘[& @ keg/) ey ?W e ¢
4 T« @ CoLdmnfe;( é \ éu/: /7’: /4

“;27;2,
& 1= graph ot tha oudd of haud' Juvl ~ (W" (‘fzb) mﬂ(u,lr}/m'/ Yital any
(So 6p is tha u«fw/y»yﬁ) I Muthat o T
3 [T |, 2 s o
&t omigm e ¢ ""/,-Z % b€ tan o baei | O o
nisn/a D( #/’cr{ﬂ( zf(//m;,elﬁ,@f)]
@ O(M (oon\ i 1 Vz
@) s s 05 )2 () € 00%): (T4, (LG (# s o st e )
all Gs are Swple > i $ 0§ £ (G)"s H can be obtaived frou6 by
(e, oufral’(ox,
QOV\QF&UAMgfﬁ]’h M[&SM/DW v/cdee:sfec o,
T P 3,,/24 9. A S
Zimi £ Ju- § i € O). DE: A ctlass C of Grophs
Q Fer n;nawdof«/ class Co Gy R 6, IS tainor~Closeq =
Frivi
Wi Qo gmf(swm,weq, s,s@ V6e@ #H X6 : He Q.
= X U
D8 Edge dw«w‘q q(C) s' m (@) / V(\ 6()(,3 o ) ki “V’/& 3 friviap
OB RICRI Ak
— plracm o4 4 Serface
Tam! For any non-denial wimen-closd — bowded Free idty
class C of graphs @(C) 15 finite. — $oresis
Db Tork (00 - el of ol grops & G 3o () s weinorcloief

$1. AHLG6, N'ed(: H3Y

w% o GEFerb (30, 6'< 6> Gl sty

Class 1 Pt
29. Jorb (ik,_b 3m,l15 With no a3¢s 154,‘,6 iﬁs 6{‘4[)/'/6'3(
—— bt W46, S0 Gd Psrb(N)
3W$(kg\ ~eee 397‘(973 74,_14% For ”’”\'7 Hce @
Bork (ks kog) - Pl grapls O+ C = Forb (),
Y liowfoust; i O Poberdson £ Soquaurs
lece, geae (0 33 gk
ws*(c 3(e) C e he e Foke | Gn
= Forb(H) < ?oré(H) < 3015(14) N (Mader): ok 30305 (See ‘?ﬁ/;;)z,:/
g(@\ (bl € § k(i) € Q(ak(ka) 8 wgats(62 =

W) | 4 a G Coudaing a Sub-dovision of 1, .
*kostothle £ Thotmasey: genk(k SRR S(Porb (ki) is fomie



"Qorudk's ol ~ juaproved Lersis
b (Diglsha)
inGery sﬂf
1. Seledd nighbor V n~
Wit He SM»{ valut Caraa/ fap,

- e3¢ Ly
s X
uer Ve
2. 40(0( ur Yo 7

Sor 2cck togho h
Fe It ke Values: "
it »ﬁ;‘ﬂ*ﬁf‘:’;‘m] ¥ Tl T e
0

M,M.» ~ thause achive
l<¢q> veluss 4 Wy

$reg

mf‘ymﬂﬂﬁ‘) DGC"WC
tiLMaCCi L\Mrz O(M-’ ”(0701) e« 0@ it {2 blogn

Lete;;
Mza;; ’;Z F sty

*o Camveay
Tree
Covefpact L

Ly Seprple

$
(L 06"('-7[’}3)’/«4
6/ m < uy
u'< h/z"'J(J"

= u/t
« Jarug /Dl 9"
D/Il:‘ri*n’-(gq'} s 0(&«1)

ten M

075 | cuprent

Fredwan~"Tevjan o 1/
T [Qo/n]
t: liwyt  te=8

r o hogp
NS A |

orest Sty if:
4 Ma{; &}[?l« :mémm cupA,

an ex/sh &g Kree

?445: y QaA F 4 T
Corfracy p

@ one ftmu runs Jn 0{1«',,)

Yieee

(m, 4 N, [o'y()

2%

Ot 7 o7 352) = 0o

2y 3¢ a phese is wit- finat,
ey free of F. js Judoleut

wﬂ« af Lecdt L cotpes.

Gii= grath af #ha Sfert of Fhase 4

Co = Q
W 2n, th abs. sk,
#Fhaks S (a; N

Rwl' "f] n 1'1"/\4

#f/zfzm ~ i 1

if gZ foj@n , Hhea
%& D(\M\ '5~9v\ ol[( 7%? 22142[ we Ltt:lu

w,

@ Lf nof foley...
Wig = A Frees of s < 2_‘:;

@ -(.I._H - Ql\l“b/’?ﬂ?)/ 2 Zm,/q,”
2

75'
= ¥

~ Whole afs. rus I Owc loghn ) e

/ey

2

> 4

iphass € OE) > e O (L),

D(w) ezcdev( e
Oy Yo {or Mejfff

e



